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Maths • Time & Work

2 person work
A = x, B = y, A/B left the work after

some time. Find the remaining work

completed?

1. Amir and Akbar can finish a task in 30 days and 15

days respectively. Akbar worked on the task for 8

days and left the job. In how many days can Amir

alone finish the remaining work ?

30 15 

8 

(A) 14 days/ (B) 15 days/

(C) 16 days/ (D) 17 days/

(A) Amir

Akbar

30 1

2

30

15

= Total Work

Akbar worked for 8 days = 2 × 8 = 16 units

Left Work = 30 – 16 = 14

Remaining work done by Amir = 
14

1
= 14 days

2. Amit can complete a work in 5.5 days and

Punit can complete the same work in 9.9 days.

Punit alone worked at it for 2 days and then

left the work. In how many days will Amit alone

complete the remaining work?

5.5

9.9 2

(A) 
31

18
(B) 

7
4

18

(C) 
37

18
(D) 

41

18

(B)efficiency

Total work = 49.5

Amit  — 5.5 — 9

Punit — 9.9 — 5

Punit’s 2 days work = 5 × 2 = 10

Remaining work = 49.5 – 10 = 39.5

Time taken by Amit = 
39.5

9
 = 

7
4

18

3. A can complete some work in 35 days and B

can complete the same work in 15 days. They

worked together for 8 days, then B left the

work. In how many days will A alone complete

60% of the remaining work?

A, 35 B

15 8 

B A 60%

(CPO 24-10-2020 Shift II)

(A) 15 (B) 10

(C) 5 (D) 8

(C)
A

B

35

15

3

7
105

8 day work of A + B = (7 + 3) 8 = 80

Remaining work = 105 – 80 = 25

60% of remaining work = 25 × 
60

100
 = 15

Time = 
15

3
 = 5 days

3
TYPE
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Mother's Maths

2 person work
A + B = x, B = y.

A/B left work after. Find the remain-

ing work of A/B = ?
4. A and B together can complete a work in 20

days. They started together but after 4 days A

left the work. The remaining work was com-

pleted by B alone in 24 more days. In how

many days can A complete the entire work

alone?

A B

A

B A

(A)75 (B)25

(C)45 (D)60

4. (D) A and B together complete a work = 20 days

A and B together work 4 days

= 
4 1

20 5

Remaining work = 1 – 
1 4

5 5

B work 
4

5
 Part = 24 days

B alone complete whole work = 30 days

A + B 203

B 306
60

LCM

A complete work = 
60

1
 = 60 days

5. A and B together can complete a work in

2
6

3
day. They started together but after 5 days

A left the work and the work is completed by

B after 6 more days. A alone can complete the

entire work in how many days?

A B 
2

6
3

5 A

B 6 A

(A) 
110

13
(B) 

120

13

(C) 
130

11
(D) 

121

13

5. (B) A and B together complete work = 
2

6
3

 day

A and B,  10 day complete work = 
5 3

20
 = 

3

4

Remaining work = 1 – 
3

4
 = 

1

4

1

4
 Work complete by B = 6 days

B complete work = 6 × 
4

1
 = 24

A Complete work

= 
3

20
 – 

1

24
 = 

13

120
=

120

13
 days

3 person work
A = x, B = y, C = z. A/B/C left work

after. Find the remaining work of A/

B/C = ?

6. A, B and C, alone can do a piece of work in 9,

12 and 18 days respectively. They all started

the work together, but A left after 3 days. In

how many days, was the remaining work com-

pleted?

A, B C 9, 12 18 

3

A 

(A) 2 (B) 
5

2
(C) 

11

4
(D) 

4
1

5

(D)A

B

C

9

12

18

36
4

3

2

All work together for 3 days

 = (4 + 3 + 2) × 3 = 27

Remaining work = 36 – 27 = 9 next day

Time = 
9

5
 = 

4
1

5
 days
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7. A, B and C can do job in 
3

3
4

, 
1

2
7

 and 
1

7
2

days respectively if they worked alone. A

leaves after they have worked together for 
1

2
days. In how many days can B and C do the

rest of the job?

A, B C 

3
3

4
, 

1
2

7
 

1
7

2

1

2

A B C

(A) 
17

18
(B) 

11

18
(C) 

13

18
(D) 6

(A)Eff. (unit)

4 A —
15

4

7 B —
15

7

2 C —
15

2
Total work = 15 units

1

2
days work = 

1

2
 × (4 + 7 + 2) = 6.5

Remaining work = 15 – 6.5 = 8.5

B + C can do the work = 
8.5

9
 = 

17

18

3 person work
A + B = x, B + C = y, C + A = z,  A/B left

work after. Find the remaining work

of A/B = ?
8. A and B together can do a piece of work in 10

days. B and C together can do it in 15 days

while C and A together can do it in 20 days.

They work together for 8 days and A & B left

the work. C alone will complete the remaining

work in :

A B  10 B 

C C A

8 

A B C

(A) 12 days (B) 
1

3
5

 days

(C) 16 days (D) 
1

5
3

 days

(C) A+B

B+C

C+A

10

15

20

6
4

3
60

(A + B + C) = 
13

2
 , C = 

1

2

(A + B + C)
8
 = 

13
8 52

2

Remaining by C
Time

 = 
8

1 /2  = 16 days

9. A and B, working together, can complete a work

in 
1

8
3

 days, C and A together can complete it

in 
2

16
3

 days, B and C together can complete it

in 
1

12
2

 days. They worked together for 3 days

after that A & C quit. In how many days will B

alone complete the remaining work ?

A B
1

8
3

C A 
2

16
3

 

B C 
1

12
2

3

A C

B 

(A) 
111

17
(B) 

5
8

7
(C) 

119

17
(D) 32

(B)A + B 8

100

12

6

8

1
3

C + A

B + C

16 2
3

12 1
2

(A + B + C) 
ODW

 = 
26

2
, C = 1

(A + B + C) 
12

 = 13 × 3 = 39

Remaining work = 100 – 39 = 61

No. of days taken by C = 
61

7
= 

5
8

7
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10. A can do 20% of a work in 4 days, B can do 
1

33
3

of the

same work in 10 days. They worked together for 9

days. C completed the remaining work in 6 days. B

and C together will complete 75% of the same work

in :

A 20% 4 B 

1
33

3
10 9 

C 6 B C 

75% 

(CGL Mains 2019)

(A) 12 days/ (B) 15 days/

(C) 10 days/ (D) 9 days/

(C) 

A + B for 9 days = 5 × 9 =  45

Remaing work = 60 – 45 = 15

C efficency = 
15

6
= 

5

2

B + C = 2+
5

2
= 

9

2

B + C = 75% of total work

60×
75

100
 = 45

B completed work  =  
45 2

9

= 10 days


